专科起点本科复习资料
四川农业大学  编印
复习题说明

1、本套复习题适用于报考专科起点本科层次的考生。
2、网络教育春、秋入学考试时间，详见四川农业大学网络教育招生简章，具体考试安排以入学考试通知为准。
3、入学考试科目：大学语文、高等数学、大学英语。

                         四川农业大学远程与继续教育学院
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大 学 语 文

一、选择题

1、我国历史上最早的一部文学作品总集是                            （     ）

A、《文选》                          B、《乐府诗集》

   C、《左传》                          D、《战国策》

2、《背影》描写人物肖像和行动时所采用的手法是                     （     ）

A、比兴                             B、白描

   C、情景交融                         D、直抒胸臆

3、侯方域是明末清初著名的                                        （     ）

A、政治家                           B、诗文作家

   C、思想家                           D、教育家

4、《日出》的情节结构特点是                                       （     ）

A、回顾式写法                       B、横断面描写法

   C、闭锁结构                         D、开放式结构

5、王昌龄最擅长的是                                              （     ）

A、七言律诗                         B、七言歌行

   C、五言绝句                         D、七言绝句

6、中国现代小说的奠基人为                                        （     ）

A、巴金                             B、鲁讯

   C、冰心                             D、茅盾

7、曹操的《短歌行》（其一）是一首                                 （     ）

A、律诗                             B、新乐府

   C、乐府旧题                         D、绝句

8、在我国现代文学史上，郁达夫是杰出的                            （     ）

A、诗人                             B、剧作家

   C、杂文家                           D、作家
9、下列各句中，含有使动用法的是                                  （     ）

（1）虎兕出于柙，龟玉毁于椟中。

（2）是以泰山不让让土壤，故能成其大；河海不择细流，故能就其深；王者不却众庶，故能明其德。

（3）白发三千丈，缘愁似个长。

（4）明月松间照，清泉石上流。

A、拟人  排比  比喻  对偶           B、比喻  拟人  夸张  对偶

C、比喻  排比  夸张  对偶           D、拟人  比喻  对偶  夸张

10、下列带点的的词解释正确的是                                （     ）

A、战百万日滋之师。                 滋：滋养。

B、字而幼孩，遂而鸡豚               遂：于是。

C、间道经其门。                     间：间或，偶尔。

D、凌余陈兮躐余行。                 凌：超过。

11、《关山月》用来抒情的线索是                                 （     ）

A、笛声                             B、歌舞

   C、泪痕                             D、月夜

12、具体来说，绝句又属于                                      （     ）

A、古体诗                           B、楚辞体

   C、乐府诗                           D、格律诗

13、屠格涅夫是俄国十九世纪的                                  （     ）

A、现实主义作家                     B、自然主义作家

   C、批判现实主义作家                 D、浪漫主义作家

14、在儒家政治理想中，逊于“大同”社会的是                    （     ）

A、小康社会                         B、大道社会

   C、春秋社会                         D、战国社会

15、“麦琪的礼物”的含义是                                     （     ）

A、指主人公的真挚情感及他们的美好心灵

B、指西方国家圣诞节所馈赠的礼物

   C、指年轻夫妇德拉和杰姆所购买的表链和梳子                             

D、指生日礼物

16、郁达夫《故都的秋》是一篇                                  （     ）

A、反映地方民情风俗的散文           B、游记散文

   C、写景散文                         D、记叙文

17、下列句子属于判断句式的是                                  （     ）

A、制，岩邑也。                     B、广为人长，猿臂。

   C、以此常不见悦于长吏。              D、为虏所生得。

18、下列带点的解释正确的是                                    （     ）

A、而吾未尝以此自多者。             多：夸耀。

B、举先王之政，以兴利除弊。         举：列举。

C、此所谓藉寇兵而赍盗粮者也。       赍：借给。

D、初守睢阳时，士卒仅万人。         仅：只有。

19、下列画横线的句子翻译正确的是                              （     ）

A、“闻道百，以为莫己若者”，我之谓也。    

  我之谓也：这是我所说的啊。                         

B、今将军尚不得夜行，何乃故也。

  何乃故也：这是什么缘故呢。

   C、虏多且近，即有急，奈何。 

      即有急：即使遇到紧急情况。                            

D、愿陛下矜愍诚，听臣微志。
   听臣微志：准许我实现这个微小的心愿。

20、下列各句带点的词，词义相同的一组是                        （     ）
A、民以殷盛，国以富强；           以子之道，移之官理，可乐？
B、故病且怠若是；                 且吾相当不当封侯邪？且固命也？   
C、故远人不服，则修文德以来之；   是何异于刺人而杀之。   
D、遂而想见，其谁曰不然；         河内凶，则移其民于河东。 
21、李白《行路难》中“将登太行雪满山”的象征意义是            （     ）

A、心绪茫然                         B、壮志难酬

   C、前途暗淡                         D、道路凶险

22、下列作品中，充满了象征意蕴的散文诗是                      （     ）

A、屠格涅夫《门槛》                 B、艾青《我爱这土地》

   C、冰心《往事——之十四》           D、茅盾《香市》

23、《诗经》中保存民歌最多的为                                 （     ）

A、风                               B、颂

   C、小雅                             D、大雅

24、茅盾倡导并组织成立的是                                    （     ）

A、新月社                           B、创造社

   C、文学研究会                       D、语丝社

25、老舍是我国现代                                            （     ）

A、著名诗人                         B、著名文艺评论家

   C、著名作家                         D、著名游记作家

26、“想佳人、妆楼顒望”中“顒望”的意思是                     （     ）

A、举头凝望                         B、低头俯视

   C、远望                             D、仰望

27、描写按对象分类，大体可归纳为人物描写和                    （     ）

A、细节描写                         B、直接描写

   C、心理描写                         D、环境描写

28、郁达夫“五四”时期参加的文学社团是                        （     ）

A、文学研究会                       B、左翼作家联盟

   C、太阳社                           D、创造社

29、《冯谖客孟尝君》中孟尝君是                                 （     ）

A、魏国人                           B、赵国人

   C、楚国人                           D、齐国人

30、下列句中“之”是实词，当“到”讲的是                      （     ）

A、所操之术多异故也。               B、夫子欲之。

   C、大军不知广所之。                 D、今我睹子之难穷也。

31、孔子的思想核心是                                          （    ）

A、兼爱     B、仁和礼     C、严刑峻法    D、自然无为

32、北宋中叶诗文革新运动的领袖是                              （    ）

A、王安石   B、苏轼       C、欧阳修      D、柳宗元

33、“请以遗之”中“遗”的解释正确的一项是                     （    ）

A、赠送     B、遗忘       C、遗留        D、遗弃

34、我国田园诗派的开创者是                                    （    ）

A、王维     B、孟浩然     C、李白        D、陶渊明

35、下列各组词中加点的字，读音与所给注音全都相同的一组是      （    ）

   A、埋mái      埋葬     埋怨     埋头苦干     隐姓埋名

   B、处chǔ      处方     处置     处变不惊     安常处顺

   C、鲜xiān     鲜活     新鲜     鲜为人知     寡廉鲜耻

   D、辟pì       开辟     复辟     鞭辟入里     开天辟地

36、下列各组词语中，没有错别字的一组是                        （    ）

A、婉转嘹亮     冠免堂皇     轻而易举

B、哗众取宠     手屈一指     百战不殆

C、独抒新见     百无聊赖     执迷不悟

D、白壁微瑕     挺而走险     貌合神离

37、现代文学史上，擅长描写北京底层平民生活，作品具有浓厚的京味的作家是（    ）

A、茅盾    B、老舍     C、曹禺     D、刘心武

38、下列句中“从”是使动用法的一句是                                  （    ）

A、天子使中贵人，人人广勤习兵

B、广乃遂从百骑往驰三人

C、大军不知广所之，故弗从

D、从人田间饮

39、《女神》作者是                                                     （    ）

A、闻一多     B、艾青       C、郭沫若     D、戴望舒

40、成语“信誓旦旦”出自

A、《诗经》    B、《论语》    C、《左传》    D、《史记》
二、填空题

1、先秦时期一部最能代表儒家思想的语录体散文集是               。

2、“大道之行也，天下为公”出自                                。

3、我国盛唐边塞诗派的代表诗人是          。

4、文学史上田园诗派的开创者是            。

5、鲁讯的小说《风波》选自                。

6、“遥岑远目，献愁供恨，玉簪螺髻”所使用的修辞方法是        ，            。
7、所谓“四书”指的是《论语》、《大学》、《中庸》和                 。

8、说“知识就是力量”这句名言的是                          。

9、闻一多属于诗歌流派中的           派。

10、《背影》一文为刻画一个慈父形象所选取的描写重点是人物的                。

11、《诗经》根据音乐的不同，分为         、          、           三部分。

12、《史记》是中国第一部                  ，被鲁迅称之为“              

                  。”

13、唐诗的发展阶段分为         、        、          、        四个时期。

14、“元曲四大家”指            、           、            、          
15、鲁迅的散文代表作品有           等，鲁迅的杂文代表作品有         等。

16、词在其产生的唐代一般被称为               和                     。

17、20年代小说有三大潮流，一是以文学研究会为主的             ，代表作家          ；二是以创作社为主的           一派，代表作家           ；三是            ，代表作家              。

18、宋词的两大流派是                       和                    。

19、道家学派的代表人物是               和           。墨家学派的代表人物是               ，法家的代表人物有                  等。  

20、杂剧作家中                  和             成就最高，影响最大。
三、作文
（一）、一个沿街流浪的乞丐每天总在想，假如我手头要有两万元钱就好了。一天，这个乞丐无意中发觉了一只跑丢的很可爱的小狗，乞丐发现四周没人，便把狗抱回了他的窑洞里，拴了起来。

    这只狗的主人是本市有名的大富翁。这位富翁丢狗后十分着急，因为这是一只纯正的进口名犬。于是，皖在大街上张站了一别寻狗启事：如有拾到者请速还，付酬金两万元。

    第二天，乞丐沿街行乞时，看到这则启事，便迫不及待地抱着小狗准备去领那两万元酬金。可当他匆匆忙忙抱着狗又路过贴启事处时，发现启事上的酬金提高到了3万元。

    乞丐似乎不相信自己的眼睛，向前走的脚步突然间停了下来，想了想又转身将狗抱回了窑洞，重新拴了起来。第三天，酬金果然又涨了，第四天又涨了，直到第七天，酬金涨到了让市民都感到惊讶时，乞丐这才跑回窑洞去抱狗。可想不到的是那只可爱的小狗已被饿死了。乞丐还是乞丐。

    人生在世，很多美好的东西不是无缘得到，而是我们的期望太高：往往在刚接近一个目标时，又会突然转向另一个更高的目标。西方一位哲人说过：“人的欲望是一座火山．如不控制就会害人伤己。”

    你觉得怎样呢，请自拟题目，写一篇以议论为主的文章，不少于800字。

（二）、5月19日央视赈灾义演晚会上，作家张抗抗说：“这次灾难显示了公民意识的觉醒，意义非常重大。我们每个活着的中国公民都应该记着，我是公民·”什么是“公民意识”？简言之，是反映公民对待个人与国家、个人与社会、个人与他人之间的道德观念、价值取向、行为规范等。它强调的是人在社会生活中的责任意识、公德意识、民主意识等基本道德意识。

阅读后确立一个议论中心，题目自拟。

要求：A、必须写成议论文；

      B、不能少于800字；

      C、字迹工整，卷面整洁。
大学语文答案

一、选择题

1.A     2.B     3.B    4.B    5.D    6.B    7.C   8.D    9.C

10.C    11.D    12.D   13.C   14.A   15.A   16.B  17.A   18.A 

19.D    20.C    21.B   22.A   23.A   24.C   25.C  26.A   27.D

28.D    29.D    30.C   31.B   32.C   33.A   34.D  35.B   36.C

37.B    38.B    39.C   40.A
二、填空题

1.论语    2.礼记    3.岑参    4.陶渊明   5.呐喊    6.比喻、拟人

7.孟子    8.培根    9.新月派  10.人物的背影         11.风、雅、颂 
12.纪传体通史，史家之绝唱，无韵之离骚。

13.初唐、盛唐、中唐、晚唐        14.关汉卿、白朴、马致远、郑光祖

15.《野草》   《坟》《花边文学》   16.长短句  乐府

17.人生写实派，叶圣陶。自叙传，郁达夫。乡土文学，彭家煌。

18.豪放派和婉约派                19.老子 庄子  墨子  韩非

20.关汉卿、白朴
三、作文

   答案（略）
高等数学

一、选择题

1、设
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设函数

（       ）

A.小于零         B.等于零          C.大于零        D.不确定

5、若A与B的交是不可能事件，则A与B一定是（        ）

   A.对立事件        B.相互独立事件     C.互不相容事件    D.相等事件

6、甲、乙二人参加知识竞赛，共有6个选择题，8个判断题，甲、乙二人依次各抽一题，则甲抽到选择题，乙抽到判断题的概率为
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18、袋子装有大小相同的12个球，其中5个白球，7个黑球，从中任取3个球，求这3个球中至少有一个黑球的概率。
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高等数学答案

一、选择题
1.D  2. B   3.B     4.D    5.C     6. C   7.B   8. B   9.D   10.C   11.A
12.C    13.C    14.A    15.A     16.C      17.D    18.A   19.C.   20.B
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5.解 设A=“甲译出密码”，B=“乙译出密码”，C=“密码被译出”，
  则C=A+B，P（C）=P（A+B）=P（A）+P（B）－P（AB）.

  注意到甲、乙破译密码是相互独立的，所以

         P(C)=P(A)+P(B)－P(A)P(B)
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17.解：方法一  令
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      方法二   等式两边分别对x和y求偏导数得
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18.  解：设事件A为“至少有1个黑球”，则

方法一P（A）=
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方法二 
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19、解：令
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20、解：由题意知
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大学英语

一、语音知识

   在下面每组单词中，选出划线部分与其他单词的划分部分读音不同的选项。

	（     ）1.A.training
	B.brain
	C.remain
	D.said

	（     ）2.A.medium
	B.western
	C.Mediterranean
	D.revolution

	（     ）3.A.area
	B.heat
	C.real
	D.idea

	（     ）4.A.surround 
	B.surprise
	C.survive
	D.purpose

	（     ）5.A.wind
	B.Kind
	C.find
	D.mind

	（     ）6.A.brought
	B.thought
	C.fought
	D.doubt

	（     ）7.A.calm
	B.hall
	C.talk
	D.ball

	（     ）8.A.full
	B.luck
	C.stuff
	D.up

	（     ）9.A.white
	B.whisper
	C.whose
	D.wheel

	（     ）10.A.typical
	B.cycle
	C.apply
	D.imply


二、词汇与语法知识

从每小题的四个选项中，选出最佳的一项，并把它前面的大写字母填入左边的括号里。

（     ）1.The composition       any more.

           A. need not to be corrected         B. doesn’t need be corrected

           C. need not correct               D. doesn’t need to be corrected

（     ）2.With the guide        the way, we set out on foot into the dark night.

           A. lead       B. leading        C. led         D. to lead

（     ）3.      Liu Xiang failed to compete in the 2008 Beijing Olympic Games, he is still a hero in the eyes of our Chinese people.

          A. Although    B. Since         C. So         D. Because

（     ）4.        is terribly tiring working late like        .

          A. This; it      B. It, this        C. What; it    D. It, what

（     ）5.The shop assistant didn’t give me the right        .

           A. change     B. money        C. serve      D. note

（     ）6.There aren’t many pandas       in the world today.

           A. alive       B. living        C. lively      D. lived
（     ）7. We never dared to ask him a question,        ?

           A. did we     B. didn’t we      C. dared we   D. daredn’t we

（     ）8. Five minutes earlier,        we could have caught the last train.

           A. of       B. but            C. and         D. so

（     ）9.The roof fell        he had time to dash into the room to save his baby.

           A. since     B. as            C. before       D. until

（     ）10.After studying in a medical college for five years, Jane       her job as a doctor

            in the countryside.

         A. set out        B. took over        C. took up       D. set up

（     ）11.—He hardly has anything nowadays,         ?

            —No, I don’t think so!

            A. has he     B. doesn’t he       C. does he       D. hasn’t he

（     ）12.Twenty miles      a long way to cover.

            A. have been  B. is              C. are           D. were

（     ）13.It was difficult for him to buy good shoes because he had such a big     of feet.

            A. pair       B. size             C. couple       D. number

（     ）14.       determines a good meal varies from country to country

            A. What      B. That            C. It            D. Which

（     ）15.To get the job started,         I need is your permission.

           A. only what   B. all what          C. all that       D. only that

（     ）16. The ancient Egyptians compared the rising of the sun      the beginning of life.

            A. with      B. to         C. for          D. as

（     ）17.When there are small children around ,it is necessary to put bottles of pills out of     
            A. hold      B. reach       C. place       D. hand

（     ）18. They are not aware of the reasons        people are unwilling to discuss insurance.

            A. when     B. where      C. why        D. how

（     ）19.—I think you should phone Jenny and say sorry to her.

          —       . It was her fault.

          A. No way   B. Not possible     C. No chance      D. Not at all

（     ）20.You must take        for granted that I will help you.

            A. it        B. that            C. this            D. its
（     ）21.When Jane fell off the bike, the other children      .

            A. were not able to help laughter         B. could not help but laughing

            C. could not help laughing.             D. could not help to laugh

（     ）22.          man is         reasoning animal.

            A. The; a      B. / ; /          C./; a          D. The ;the

（     ）23. His handwriting is        yours. 

            A. more better      B. as well as     C. much better than     D. as better as

（     ）24.— I slipped on the stairs. I think my arm is broken.

           — Oh! I      .

            A. don’t hope       B. hope not so    C. do not hope       D. hope not

（     ）25. He is        that I’d like to introduce him to you.

            A. such noble person           B. so noble person

            C. such a noble person          D. so a noble person

（     ）26. When a fire          at the National Exhibition in London, at least ten priceless paintings were completely destroyed.
            A. broke off        B. broke out       C. broke down        D. broke up

（     ）27.It is a          ride from his home to the shopping center.

           A. ninety-miles      B. ninety – mile’s     C. ninety miles     D. ninety-mile

（     ）28.Hardly         when they ran toward it.

            A. had the plane landed            B. did the plane land

            C. the plane had landed            D. the plane landed

（     ）29.We are using up our natural resources too quickly and at the same time we are      
            our environment with dangerous chemicals.

            A. protecting       B. saving       C. polluting          D. fighting

（     ）30.        that your son is well again, you no longer have anything to worry about.

           A. When        B. After            C. Before        D. Now

（     ）31.Dos John know any other foreign languages       French?

            A. except       B. but             C. besides       D. beside

（     ）32.Many of human problems associated with living in the ocean are      the problems of  living in outer space.

           A. the same as    B. such that        C. such as       D. just as 

（     ）33.Shenzhou VII was successfully launched          September 25th,2008      
           Jiuquan, Gansu Province.

            A. in ; on        B. on; in         C. on ; on         D. in; in

（     ）34.We can’t understand why he avoided         to us.

            A. to speak       B. speak          C. having spoke    D. speaking

（     ）35.The moment I got home , I found I          my jacket on the playground.

            A. had left       B. left           C. have left     D. was leaving
（     ）36.My brother        while he        his bicycle and hurt himself.

            A. fell ; was riding       B. fell, were riding

            C. had fallen; rode       D. had fallen; was riding

（     ）37.Bill looked around for a participant         .

           A. making friends          B. to make friends

           C. to make friends with      D. made friends

（     ）38.No one objected to Harry’s presiding over the condominium owner’s meeting; what

            every-one          objecting to was his rudeness.

            A. were      B. have been        C. was           D. had been

（     ）39.—Look! He’s running so fast!

           —Hard to          his legs were once broken.

            A. know        B. imagine         C. realize       D. find

（     ）40.Have a cigarette,         ?

           A. will you        B. don’t you         C. do you        D. aren’t you

（     ）41. It is a small country, yet it has a lot of         resources.

            A. potential       B. unknown        C. secret         D. unlimited
（     ）42.—What would you wish to do if you were a college student again?

           — That’s very hard to say, but I wish I         when I was a college student.

            A. has net studied psychology        B. had studied psychology

            C. did study psychology             D. studied psychology

（     ）43.So much        his financial position that he can’t sleep at night.

            A. he worries about                 B. he worried about

            C. did he worry about               D. does he worry about

（     ）44.         round the city, we were impressed by the city’s new look.

A. Taken         B. Taking       C. To be taken     D. Being taken

（     ）45.Eat as many vegetables as possible. For they are rich        iron.

            A. of           B. in           C. with          D. for

（     ）46.A teacher        do every exercise but a student         .

            A. may not; must      B. needn’t; must    
 C. can’t ; should       D. mustn’t ;should

（     ）47.What we must do now        make a careful investigation on the circumstances.

            A. are          B. is          C. is to         D. were to

（     ）48.Could you hold on a few minutes      I check this with my boss?

            A. for          B. since       C. during        D. while

（     ）49.The president         Mr. Baker medical adviser.

            A. promised        B. praised        C. imagined       D. appointed

（     ）50.He         a great deal in the old days.

           A. was suffered      B. had been suffered      
 C. suffered          D. had suffered

（     ）51.        their luggage, the tourists hurried to the airport.

            A. Packed         B. After packed      C. Having packed    D. Packing

（     ）52.Without electricity, human life        quite different today.

            A. is              B. will be          C. would have been    D. would be

（     ）53.John         he could improve his exam results, but he did not have enough time to study.

          A. knows how     B. knows that          C. knew how     D. knew that

（     ）54.I’m sure he understands         you feel . He’s very clever.

            A. when        B. what             C. whether         D. how

（     ）55.To reduce weight, plastic has taken        of iron and steel in making boats.

            A. its place      B. place            C. the place        D. a place

（     ）56.I applied for the job that I saw advertised          the paper.

            A. on          B. of               C. in             D. at 

（     ）57.—How did you find your visit to the museum?

         — I thoroughly enjoyed it . It was         than I expected.

         A. far more interesting         B. even much interesting

         C. so more interesting          D. a lot much interesting

（     ）58.
He         Chinese history and knows a lot about it .

            A. is strict with            B. is interested in 

            C. is satisfied with         D. is busy doing

（     ）59.The fire       two persons’ death as well as the damage of all the stores’ property.

            A. is resulted in            B. is resulted from

            C. resulted in              D. resulted from

（     ）60.Susan wants to know whether the measures have been agreed        .

            A. to          B. with         C. over          D. on

（     ）61.Without the help of people from every corner of the world, people in Wenchuan County, Sichuan Province       recovered very quickly from the May twelfth Earthquake.

           A. must not have       B. couldn’t have       C. may not have   D. can’t have

（     ）62.I’ve worked here since I        Harvard Business School.

            A. leave        B. left          C. have left       D. had left

（     ）63.—Did you see any foreigners present at the party?

            —She was the only foreigner        I saw at the party.

            A. whom        B. that        C. who           D. which

（     ）64.Some of the guests         to the party were from other cities.

           A. to invite       B. invited      C. being invited    D. had been invited

（     ）65.The man showed the boy        he should play the piano.

           A. what          B. when       C. which          D. how

（     ）66.I       swim in summer when I was young.

            A. used to       B. used        C. was used to     D. did used to

（     ）67.A completely new situation will        when the examination system comes into

            existence.

            A. arise         B. rise         C. raise          D. arouse

（     ）68.         Chicago is a beautiful city today, but          Chicago of the 1920s was  a very dirty place.

            A. The; the      B. / ; /          C. A; the         D. /; the

（     ）69.He        studied, yet he passed every exam.

            A. frequently     B. little        C. regularly       D. rarely

（     ）70.         cave that George has discovered in his lifetime is near the Alps.

           A. The hundredth   B. The hundred    C. Hundredth    D. A hundred

（     ）71.In 2008， 27 people were arrested because of the contaminated(有毒的) milk powder         
            A. incident    B. accident        C. event      D. occurrence

（     ）72.Don’t put off until tomorrow        should be done today.

            A. that       B. what           C. is         D. when

（     ）73.He had a pain        his back.

           A. on         B. with            C. in    D. onto

（     ）74.They talked and talked as if they         never meet again.

          A. will        B. would           C. should     D. shall

（     ）75.You cannot ignore the situation forever, one day you will have to    the consequences

            of your act

            A. look up to      B. wake up to      C. stand up to        D. face up to

（     ）76.Open the window,         ?

            A. do you        B. don’t you        C. will you          D. won’t you

（     ）77.He spoke so quickly that I did not           what he said.

            A. catch         B. accept           C. take             D. listen

（     ）78.More          , Less speed.

           A. hurry          B. rush             C. quickness        D. haste
（     ）79.At the bus stop         a soldier and two young people on their way to North Carolina.

            A. were          B. was             C. is               D. sits and waits

（     ）80.The police chief ordered that parking          on Main Street during the rush hour.

            A. be prohibited       B. be prohibiting     
C. is prohibited       D. was prohibited

三、完形填空

 (一)

Directions: For each blank in the following passage, there are four choices marked A, B, C and D. Choose the one that is the most suitable and mark your answer by blackening the corresponding letter on the Answer Sheet.

One British school is finding that allowing children to listen to music or even to have the TV on while studying is helping improve grades.  1  your teenager starts a family quarrel by sitting in an armchair listening to music while doing his homework , why not    2    a simple experiment ? Rather than taking the heavy handed(严厉的)line of ordering him to his bedroom to get on with it   3  ,let him do the homework the   4   he wants. You might well find that this essay is more sparkling (有文采的)than   5   he’s done before.

According to the research of Millfield prep school , around 20% of youngsters  6   best with background music, 10% excel (突出)when allowed to break up their work with short walks around the room, while up to 80% can concentrate（集中注意力）  7  if allowed to fiddle(用手拨弄)with a small object

The research has advised the school to adopt (采取)a complete  8  approach(措施)，analyzing pupils to discover which learning style  9  them best, then letting them do their work with listening to music or  10  lying down. Doubtful parents at first regarded the move as a layabout’s (懒散闲荡的人)deed but may are now applying it at   11   where children are also allowed to do their work  12   the television on.

“I    13   to work on the floor with music on low, ”admits Susan, 13, a day-girl(走读女生).“At first my parents thought I was skiving (逃避), but my    14  persuaded them to look at my homework and when they saw it was OK, they   15   .”
	1.A.Next time
	B.Then
	C.Before long
	D.In case

	2.A.take
	B.try
	C.form
	D.allow

	3.A.quickly
	B.quietly
	C.carefully
	D.attentively

	4.A.atmosphere
	B.way
	C.method
	D.means

	5.A.everything
	B.something
	C.nothing
	D.anything

	6.A.work
	B.relax
	C.think
	D.progress

	7.A.faster
	B.deeper
	C.better
	D.worse

	8.A.new
	B.special
	C.common
	D.interesting

	9.A.interests
	B.affects
	C.suits
	D.improves

	10.A.still
	B.perhaps
	C.almost
	D.even

	11.A.school
	B.class
	C.home
	D.last

	12.A.while
	B.when
	C.as
	D.with

	13.A.continue
	B.hope
	C.hate
	D.prefer

	14.A.teacher
	B.classmate
	C.friend
	D.neighbor

	15.A.refused
	B.agreed
	C.stopped
	D.accepted



(二)

Directions: For each blank in the following passage., there are four choices marked A, B, C and D. Choose the one that is the most suitable and mark your answer by blackening the corresponding letter on the Answer Sheet.

It was wonderful up there. Ralph wanted to reach out and   1    a star, for they   2   so close. He could see the earth getting smaller and smaller.

The ship circled around a made star called Mars(火星)and his space friends   3    Ralph understand that this was their home.

He wanted to ask all kinds of   4    , but no one could answer him. There was nothing to eat or drink. There people had only  5   colorful  pills which they can eat    6   they were hungry.

Soon it became  7  harder for Ralph to breathe than he felt at first. He felt  8  light that he could not even stand    9   his own feet.“If I could only have some water,” he  10  ,“and a ride back down to the earth!”

The spacemen knew that it was    11  for Ralph to leave. He could not live up there  12   longer without special air or suit like theirs. So they took him to a part of the ship where there was  13  enough for just one man. A door closed over his head and   14  a minute Ralph was flying down to the earth in his own rocket ship.

Suddenly he felt the rocket   15   down and then stopped. He was back on the earth.

	1.A.getting
	B.touch
	C.hit
	D.knock

	2.A.felt
	B.saw
	C.looked
	D.watched

	3.A.told
	B.caused
	C.let
	D.made

	4.A.problems
	B.questions
	C.words
	D.phrases

	5.A.a few
	B.a little
	C.little
	D.no

	6.A.where
	B.because
	C.if
	D.when

	7.A. very
	B.quite
	C.rather
	D.even

	8.A.very
	B.so
	C.as
	D.too

	9.A.by
	B.above
	C.in
	D.on

	10.A.hoped
	B.expected
	C.wished
	D.wanted

	11.A.day
	B.date
	C.time
	D.hour

	12.A.no
	B.any
	C.too
	D.very

	13.Afloor
	B.ground
	C.place
	D.room

	14.A.day
	B.after
	C.for
	D.before

	15.A.fly
	B.fall
	C.slowed
	D.go


四、阅读理解

    阅读下列短文，然后根据短文的内容从每小题的四个选择选项中选出最佳的一项，并把它前面的大写字母填入左边的括号里。

（一）
Deep inside a mountain near Sweetwater in East, Tennessee is a body of water known as the Lost Sea. It is listed by the Guinness Book of World Records as the world’s largest underground lake. The Lost Sea is a part of extensive and historic cave system called Graihead Caverns.

The caverns have been known and used since the days of the Cherokee Indian nation. The Cave expands into a series of huge rooms from a small opening on the side of the mountain. One mile from the entrance, in a room called “The Council Room”, many Indian artist facts have been found.

For many years it had been considered that there was a large underground lake somewhere in a cave, but it was not discovered until 1905. In that year, a 13-year-old boy named Ben Sands crawled into a small opening three hundred feet underground, he found himself in a large cave half filled with water.

Today tourists visit the Lost sea and ride far out in glass-bottomed boats. More than thirteen acres of water have been mapped out so far and still no end of the lake has been found. Even though teams of divers have tried to explore the Lost Sea, the full extent of it is still unknown.

(       )1.The Lost Sea is unique because it is          .

A. part of a historical cave system

B. the biggest underground lake in the world

C. listed in the Guinness Book of World Records

D. the largest body of water in Tennessee

(       )2.The Craighead Caverns have been known         .

          A. through history         B. since the time of the Indian nations

          C. since 1905             D. since divers explored them

(       )3.Who located the Lost Sea in recent times?

          A. The Cherokee Indians.   B. Tourists.

          C. Ben Sands.            D. Scientists

(       )4.It can be inferred from the passage that the Craighead Caverns presently serve as    .

          A. an underground testing site       B. an Indian meeting ground

          C. a tourist attraction               D. a motor boat race course

(二)

Human needs seem endless. They might be regarded as making up several levels. When 

there is money enough to satisfy one level of needs, another level appears. 

The first and most basic level of needs involves food. Once this level is satisfied, the second level of needs, clothing and some sort of shelter, appears. By the end of World War I1, these needs were satisfied for a great majority of Americans. Then a third level appeared. It included such items as automobiles and new houses. 

By 1957 or 1958 this third level of needs was fairly well satisfied. Then, in the late 1950s, a fourth level of needs appeared: the “life-enriching” level. While the other levels involve physical satisfaction, that is. the feed in comfort, safety, and transportation, this level stresses mental needs for recognition, achievement, and happiness. It includes a variety of goods and services, many of which could be called “luxury” items. Among them are vacation trips, the best medical and dental care, and recreation. Also included here are fancy goods and the latest styles in clothing. 

On the fourth level, a lot of money is spent on services, while on the first three levels more is spent on goods. 

A fifth level would probably involve needs that can be achieved best by community action Consumers may be spending more on taxes to pay for government action against disease, ignorance, crime, and prejudice. After filling our stomachs, our clothes closets, our garages, our teeth, and our minds, we now may seek to ensure the health, safety, and leisure to enjoy more fully the good things on the first four levels. 

(       )1. According to the passage, man will begin to think about such needs as housing and clothing only when         

  A. he has saved up enough money

  B. he has grown dissatisfied with his simple shelter

  C. he has satisfied his hunger

  D. he has learned to build houses

(       )2. It can be inferred from the passage that by the end of World War II, most Americans   
     A. were very rich                      B. lived in poverty

     C. did not own automobiles             D. had their own automobiles

(       )3. What is the main concern of man on the fourth level?

            A. The more goods the better. 
            B. The more mental satisfaction the better. 

 C. The more “luxury” items the better.  

  D. The more earnings the better.

(       )4.The author tends to think that the fifth level

A. would be little better than the fourth level

B. may be a lot more desirable than the first four

C. can be the last and most satisfying level

D. will become attainable before the government takes actions

(三)

At the University of Kansas art museum, scientists tested the effect of different colored walls on two groups of visitors to an exhibit of paintings. For the first group the room was painted white; for the second, dark brown . Movement of each group was followed by an electrical equipment under the carpet. The experiment showed that those who entered the dark brown room walked more quickly, covered more area, and spent less time in the room than people in the white one . Dark brown made people more active, but the activity ended sooner. Not only the choice of colors but also the  general appearance of a room affects those inside. Another experiment presented people with photographs of faces whose energy was to be commented. Three groups of people were used; each was shown the same photos, but the first group was in an ordinary room, the second was in a nice office and the third was in a tastefully designed living room with a carpet. Results showed that the people in the beautiful room tend to give higher marks to the faces than those in the ugly room did . Other studies suggest that students do better on tests taken in comfortable rooms than in ordinary – looking or ugly ones.

(       )1.Which of the following is the best expression of the main idea of this passage?

          A. People in beautiful rooms tend to give higher marks to photos of faces than people in ugly rooms.

        B. The color and general appearance of a room have a deeper effect on the behavior of the people in it 

        C. The University of Kansas has studied the effects of the color of a room on people’s behavior.

        D. Beautifully furnished ,light- colored rooms make people more comfortable than ugly,

          Dark rooms.

(       )2.What is referred to as the “general appearance” in the passage is          .

A. how many broad windows a room has , through which sunlight might come in 

B. the size of a room

C. whether there are beautiful walls in a room

D. what the room looks like

(       )3.This passage provides us with         .

          A. a piece of scientific information     B. a normal lesson

          C. an interesting test                D. a piece of news

(       )4.At least how many tests were carried out by the scientists referred to in this passage?

          A. Three        B. Two           C. Only one.        D. Four

(四)

There are many commonly held beliefs about eyeglasses and eyesight that are not proved facts. For instance, some people believe that wearing glasses too soon weakens the eyes. But there is no evidence to show that the structure of eyes is changed by wearing glasses at a young age. Wearing the wrong glasses, however, can prove harmful. Studies show that for adults there is no danger, but children can develop lose of vision if they have the wrong glasses.

 We have all heard some of the common myths about how eyesight gets bad. Most people believe that reading in dim light causes pool eyesight, but that is unique. Too little light makes the eyes work harder, so they do get tired and strained. Eyestrain also results from reading a lot, reading in bed, and watching too much television. But, although eyestrain may cause some pain or headaches, it does not permanently damage eyesight.

Another myth about eyes is that they can be replaced or transferred from one person to another.

There are close to one million nerve fibers that connect the eyeball to the brain, and as if it is impossible to attach them all in a new person. Only certain parts of the eye—the cornea and the retina—can be replaced. But if we keep clearing up the myths and learning more about the eyes, some day a full transplant may be possible!

(       )1.This passage is mostly about          .

          A. different types of eyeglasses      B. a visit to the eye doctor

          C. myths about eyesight            D. cornea transplants

(       )2.One cause of eyestrain mentioned in the passage is         .

          A. wearing contact lenses too long    B. going to the movies

          C. reading a lot                  D. not visiting your eye doctor

(       )3.From this passage one can conclude that        .

          A. doctors are still learning things about eyesight

          B. headaches are only caused by eyestrain

          C. everyone should wear glasses

          D. people only believe things that are proved facts

(       )4.The word “develop” is used to mean          .

          A. become larger      B. create         C. train         D. acquire

(五)

Crocodiles(鳄鱼)lay their eggs and leave them under leaves or sand. Baby crocodiles have special sharp teeth with which to break their way out of the shells.

Crocodiles only live where it is hot. They are found in India, Australia, Africa and America. They spend most of their time lying around the mud or in the rivers. The crocodile’s long powerful tail is used when the animal is swimming. It is also an excellent weapon, because it can be swung with great speed and force. One blow will knock down a man or even a big animal at once. The crocodile is very well protected against its enemies by the hard bony plates which cover most of its body, but because of the way its neck is formed, it cannot turn its head from side to side and so it can only see things in front of itself. The crocodile has its teeth. This helps the crocodile, Which cannot clean its own teeth, for it cannot move its tongue up and down . With its rows of terrible pointed teeth it seizes its food, which may be a fish, an animal, or even a careless human being, and then holds it below the water until it is drown to death.

The long-nosed crocodile is shy and timid and because of this ,the people of West Africa where it lives, sometimes catch it for food. Many , many centuries ago there were crocodiles in England. We know this because we have found their bones buried far down in the earth on which London is built.

But the Britain of today is too cold for them to live in. Crocodiles may grow to over thirty feet in length. When they lie floating in the water, they look like floating tree-trunks and it is often impossible to tell that they are there.

(       )1.The female crocodile          .

          A. buries her eggs        B. sits on her eggs

          C. carries her eggs        D. eats her eggs

(       )2.The crocodile kills its food        .

          A. over the water           B. beside the water

          C. under the water          D. on the water

(       )3.The West Africans catch the crocodile because it is        .

          A. wild and cruel           B. shy and timid

          C. stupid and slow          D. slow and shy

(       )4.Wild crocodiles are not seen in England now because        .

         A. they have all been shot              B. they are too dangerous

         C. they are all hiding under the earth    
  D. they could not get used to the cold weather

(六)

In June of 1973, nine whales beached on the Florida coast. Beaching means swimming out of the ocean onto the beach, and usually dying there. No one knows why they do it, but a number of whales beach themselves every year. Some people think beaching is an accident.
      Perhaps the whales get confused. Scientists who studied the beaching of three dozen whales in Australia think the whales may have been confused by loud noises, Whales can tell where they are by sounds. They send out sounds and listen as they travel past or bounce off objects. Two days before these thirty-six whales beached, loud guns had been fired for two hours. The loud sounds may have confused the whales. Their confusion might have caused them to wander into low water.
      Whatever reason whales beach, it is a sad event.   People try to save them, but very few beached whales live. One whale that was rescued from beaching in Florida lived for forty-five days. That is the longest time a beached whale has ever survived. And it lived that long only because it got attention from doctors.
      All over the world, scientists rush to whales’ beaching as soon as they hear about them. They hope to learn why whales beach, and how to save them.

(       )1. The subject of this passage is ______.

          A. the Florida Beaches       B. Beached Whales

          C. Whale Sounds           D. Medical Treatment of Whales

(       )2. One reason whales beach may be ______.

           A. because they are hungry       B. because they are attacked

           C. that people can study them     D. that they are confused

(       )3. Whales’ beaching are sad events because ______.

A. people know the whales are going to die

B. the whales have to be carted away and buried
C. the whales cannot be used as food
           D.  no one can use the beach on those days

(       )4. To make the point that beached whales do not survive, the author uses

           A. the opinions of famous people    B. a vivid word picture

           C. an example                   D. a firsthand story

(七)

There are no inevitable outcomes of social class in child rearing. At the same time, there is no question that social class is important factors in how children are raised and the kind of adults that children become. Regarding social class, sociologists have found that parents socialize their children into the behaviors and norms of their work worlds. Members of the working class are closely supervised and are expected to follow explicit rules at their jobs. If they do not follow the precise rules and do as they are told, they will not keep their jobs. Their experience influences how they deal with their children. As a result, their concern is less with their children's motivations and more with their children's outward conformity. Thus they are more apt to use physical punishment in managing their children. On the other hand, middle-class parents, who are expected to take more initiative on the job, are more concerned that their children develop curiosity, self-expression, and self-control. They are also more likely to withdraw privileges or affection than to use physical punishment.
(       )1.They word “explicit” means         .

       A. vague         B. difficult          C. confusing        D. clearly defined

(       )2.According to this passage, working- class parents are more likely than middle-class parents to       .

          A. use physical punishment for discipline

          B. have children who finish college

          C. have children who are out of control

          D. show less love to their children

(       )3.Middle-class parents will encourage their children to be           .

          A. self- confident    B. reliable        C. curious        D. successful

(       )4.This passage is about          .

A. the relation between social class of the parents and their children’s rearing

B. the similarities between working class and middle class parents

C. the differences between parents of working class and the ones of middle class 

D. the relation between working class and middle class in their woke places.

(八)

My friend, Emma Danicls, spent the summer of 1974 traveling in Israel. During her month-long stay in Jerusalem she often went to a café called chocolate soup. It was run by two men, one of whom, Alex-used to live in Montreal. One morning Emma went in for coffee. While chatting with her new friend Alex, she mentioned that she had just finished the book she was reading and had nothing else to read. Alex said he had a wonderful book she might like, and that he'd be happy to lend it to her. As he lived just above the café, he quickly ran up to get it. The book he handed to Emma just minutes later was Markings, a book by a former secretary-general of the United Nations (UN).
    Emma had never read it, nor had she ever bought a copy, but when she opened it up, she was floored to see her own name and address inside the cover, in her own handwriting (笔迹). It was in town visiting friends. They decided to exchange (交换) addresses, but neither of them had any paper. The man opened up a book he was carrying in his backpack (背包) and asked Emma to write her name and address inside. When he returned to California, he left the book behind in Montreal, and his friend Alex kept it. When Alex later moved to Jerusalem, he took the book along.
(       )1. Alex lent Emma the book, Markings, _______.
          A. to show his friendliness to her 

B. to show his interest in reading

C. to tell her about the importance of the UN 

D. to let her write her name and address inside
(       )2. How did Emma feel the moment she opened the book? 

A. Pleased      B. Satisfied       C. Worried    D. Surprised
(       )3. What did Emma see when she opened the book? _______.

A. Her own name and address in her own handing       
B. The name of the owner

C. The name and address of Alex     D. The signature of the author
(       )4. Who was supposed to be the first owner of the book? 

A. An official of the UN           B. A coffee shop owner
C. A friend of the author's          D. Alex's friend from California

五、补全对话

（一）

Directions: Pick out five appropriate expressions from the eight choices below and complete the following dialogue by blackening the corresponding letter on the Answer Sheet.


	A. Where have you been               B. What do you do

C. An interesting place                D. a part-time job

E. And what do you do                F. been there

G. That sounds interesting              H. Which restaurant


Jason: Where do you work, Andrea?

Andrea: I work for Thomas Cook Travel.

Jason: Oh, really?   56    there?

Andrea: I’m a guide. I take people on tours to countries in South America, like Peru.

Jason:           !

Andrea: Yes, It’s a great job, I love it .         ?

Jason: I’m a student, and I have         , too.

Andrea: Oh? Where do you work?

Jason: In a fast – food restaurant.

Andrea:        ?

Jason: Hamburger Heaven
(二).

Directions: Pick out five appropriate expressions from the eight choices below and complete the following dialogue by blackening the corresponding letter on the Answer Sheet.

	A. Please tell her to be there on time.             B. OK, dear.

C. May I speak to Ann, please?                  D. Well, that’s great.

E. Who’s that (speaking)?                      F. Can I take a message?

G.. we are going to plant trees.                  H. here you are.


Kate: Hello !   56    
Mrs. Read: I’m sorry. Ann isn’t here right now.    57   
Kate: This is Kate.

Mrs. Read: She isn’t back yet.   58   
Kate: That’s very kind of you. I’m calling to ask her if she is free tomorrow. It’s March 12th, Tree planting Day tomorrow. And    59   
Mrs. Read: I think she’ll be very glad to join you.

Kate: We’ll meet at the school gate at 7:00.   60   

Mrs. Read: OK. I’ll let her know.

Kate: Many thanks. Goodbye.

Mrs:Read:G00dbye.

(三).

Directions: Pick out five appropriate expressions from the eight choices below and complete the following dialogue by blackening the corresponding letter on the Answer Sheet.

	A. Excuse me, sir?                           B. Could I speak to Bruce, please?

C. I’m not sure if he would give me one or two.    D. My telephone number has changed.

E. A little better.                             F. Has he got your telephone number?

G. He’s not in at the moment.                   H. You’re welcome.


Mrs:Lee:Hello.68178502.

David: Hello.   56   
Mrs. Lee: Sorry.   57  Can I take a message?

David: Yes. This is David, Bruce’s friend. I want to ask him for some Chinese ancient coins. He told

      me he had got some recently.   58   I don’t care if they were made of different metals. I just want to add some more coins in my collection.

Mrs. Lee: OK, I’ll tell him. Would you like him to ring you back later?

David: Well, I won’t be at home later this day. Would you please ask him to ring me tomorrow morning?

Mrs. Lee: Sure. 59  
David: Oh, sorry.  60  The new number is 66129853.

Mrs. Lee: OK. I’ll write a message for him.

David: It’s really nice of you . Madam. Thank you very much. Goodbye!

Mrs. Lee: Bye!

六、书面表达

（一）

Directions: For this part, you are supposed to write a short composition in about 100~120 words according to the following topic. Remember to write it clearly.

你（Li Yuan）得到一位外国朋友（Mr. John）的帮助，在英语学习上取得很大进步，并拿到了英语竞赛的名次。写一封信表示感谢（词数100~120）。内容包括：

（1）表示感谢；

（2）说明感谢原因；

（3）问候对方。

（二）

Directions: For this part, you are supposed to write a short composition in about 100~120 words according to the following topic. Remember to write it clearly.

1、你（Lin Yuan）给你的朋友（Jane）写封信，邀请她参加你的生日聚会。

信的内容包括：

（1）告知对方聚会的具体时间、地点；

（2）到达聚会地点的行车路线及便利的交通工具；

（3）要求对方就是否能参加聚会作回复。
大学英语答案

一、语音知识

1.D.     2.A    3. B   4.D  5.A   6.D   7A  8.A  9.C  10A

二、词语与语法知识

	1.D
	2.B
	3.A
	4.B
	5.A
	6.A
	7.A
	8.C
	9.C
	10.C

	11.C
	12.B
	13.A
	14.A
	15.C
	16.B
	17.B
	18.C
	19.A
	20.A

	21.C
	22.C
	23.C
	24.D
	25.C
	26.B
	27.D
	28.A
	29.C
	30.D

	31.C
	32.A
	33.B
	34.D
	35.A
	36.A
	37.C
	38.C
	39.B
	40.A

	41.A
	42.B
	43.D
	44.A
	45.B
	46.B
	47.C
	48.D
	49.D
	50.C

	51.C
	52.D
	53.C
	54.D
	55.C
	56.C
	57.A
	58.B
	59.C
	60.D

	61.B
	62.B
	63.B
	64.B
	65.D
	66.A
	67.A
	68.D
	69.D
	70.A

	71.A
	72.B
	73.C
	74.B
	75.D
	76.C
	77.A
	78.D
	79.A
	80.A


三、完形填空

（一） 
	1.A
	2.B
	3.B
	4.B
	5.D
	6.A
	7.C
	8.A
	9.C
	10.D

	11.C
	12.D
	13.D
	14.A
	15.B
	
	
	
	
	


(二)

	1.B
	2.C
	3.D
	4.B
	5.A
	6.D
	7.D
	8.B
	9.D
	10.C

	11.C
	12.B
	13.D
	14.B
	15.C
	
	
	
	
	


四、阅读理解

（一）1.B   2.B  3.C  4.C

（二）1.C   2.C  3.B  4.C

（三）1.B   2.D  3.A  4.A

（四）1.C   2.C  3.A  4.D

（五）1.A   2.C  3.B  4.D

（六）1.B   2.D  3.A  4.C

（七）1.D   2.A  3.C  4.A

（八）1.A   2.D  3.A  4.D

五、补全对话

（一）1.B  2.G  3.E  4.D  5.H

（二）1.C  2.E  3.F   4.G  5.A

（三）1.B  2.G  3.C   4.F  5.D

六、书面表达

（一）

Dear Mr. John,

    I am writing to show my thanks to you. You tutored me in my spoken English before you went to Beijing. With your help I made such rapid progress that I won first prize in the Spoken English Competition of the city. My achievement is owed to your help. Thank you very much.

How are things going with you in Beijing? I have heard that you and your wife will pay a visit to my school when you are back. I am very glad at the news. In that case we can see each other again. I am looking forward to your coming.

I am sending you a telescope as a small gift. I hope you will like it.

All the best!

                                                             Yours,

                                                            Li Yuan

（二）

Dear Jane,

My parents are going to hold a birthday party for me at 13:00 on may 29th (Sunday) at home. Will you be free and come to my party? I’ll be very happy if you can come. Besides, Tom, Mary and some other classmates are coming too.

You may take bus No. 2 to Qing Street and walk straight about 20 meters. There you’ll see a drug store. At the corner of it, turn right and get into a very narrow path and looked for Beiqing No.10.That’s my home. We’ll wait for you there.

Please call me before the date if you can not come.

I can’t wait for the get-together.

                                                              Li Yuan

PAGE  
33

_1311399780.unknown

_1311412032.unknown

_1312991563.unknown

_1312991901.unknown

_1313308799.unknown

_1313308832.unknown

_1313308875.unknown

_1313586410.unknown

_1361111052.unknown

_1313308958.unknown

_1313308848.unknown

_1313308822.unknown

_1313308742.unknown

_1313308774.unknown

_1312992078.unknown

_1312992148.unknown

_1312992195.unknown

_1312991967.unknown

_1312991746.unknown

_1312991867.unknown

_1312991890.unknown

_1312991855.unknown

_1312991686.unknown

_1312991715.unknown

_1312991600.unknown

_1312991257.unknown

_1312991417.unknown

_1312991476.unknown

_1312991541.unknown

_1312991422.unknown

_1312991322.unknown

_1312991359.unknown

_1312991291.unknown

_1312991147.unknown

_1312991176.unknown

_1312991194.unknown

_1312991164.unknown

_1311412085.unknown

_1311412104.unknown

_1311412126.unknown

_1311412064.unknown

_1311403307.unknown

_1311408211.unknown

_1311410927.unknown

_1311411331.unknown

_1311411432.unknown

_1311411473.unknown

_1311411366.unknown

_1311411001.unknown

_1311411030.unknown

_1311411092.unknown

_1311410975.unknown

_1311410236.unknown

_1311410678.unknown

_1311410844.unknown

_1311410713.unknown

_1311410285.unknown

_1311410557.unknown

_1311410319.unknown

_1311410266.unknown

_1311410011.unknown

_1311410184.unknown

_1311409884.unknown

_1311405127.unknown

_1311405526.unknown

_1311408089.unknown

_1311408132.unknown

_1311408085.unknown

_1311405373.unknown

_1311405422.unknown

_1311405317.unknown

_1311403856.unknown

_1311404730.unknown

_1311404906.unknown

_1311404641.unknown

_1311403701.unknown

_1311403767.unknown

_1311403583.unknown

_1311401240.unknown

_1311401716.unknown

_1311401848.unknown

_1311403273.unknown

_1311401770.unknown

_1311401407.unknown

_1311401443.unknown

_1311401309.unknown

_1311400771.unknown

_1311401048.unknown

_1311401078.unknown

_1311400998.unknown

_1311400030.unknown

_1311400715.unknown

_1311399833.unknown

_1311349837.unknown

_1311397111.unknown

_1311398574.unknown

_1311399045.unknown

_1311399102.unknown

_1311399356.unknown

_1311399435.unknown

_1311399275.unknown

_1311399076.unknown

_1311398897.unknown

_1311399001.unknown

_1311398850.unknown

_1311397602.unknown

_1311397777.unknown

_1311398514.unknown

_1311397707.unknown

_1311397457.unknown

_1311397489.unknown

_1311397270.unknown

_1311397306.unknown

_1311397210.unknown

_1311350238.unknown

_1311396856.unknown

_1311396930.unknown

_1311396983.unknown

_1311396882.unknown

_1311350285.unknown

_1311396755.unknown

_1311350255.unknown

_1311349961.unknown

_1311350155.unknown

_1311350206.unknown

_1311350010.unknown

_1311349878.unknown

_1311349923.unknown

_1311348435.unknown

_1311348947.unknown

_1311349243.unknown

_1311349393.unknown

_1311349612.unknown

_1311349669.unknown

_1311349681.unknown

_1311349704.unknown

_1311349653.unknown

_1311349585.unknown

_1311349500.unknown

_1311349513.unknown

_1311349401.unknown

_1311349333.unknown

_1311349350.unknown

_1311349264.unknown

_1311349077.unknown

_1311349204.unknown

_1311349223.unknown

_1311349155.unknown

_1311348992.unknown

_1311349021.unknown

_1311348958.unknown

_1311348716.unknown

_1311348784.unknown

_1311348898.unknown

_1311348740.unknown

_1311348561.unknown

_1311348649.unknown

_1311348439.unknown

_1311348007.unknown

_1311348226.unknown

_1311348303.unknown

_1311348421.unknown

_1311348264.unknown

_1311348123.unknown

_1311348175.unknown

_1311348030.unknown

_1311347274.unknown

_1311347653.unknown

_1311347743.unknown

_1311347360.unknown

_1311346569.unknown

_1311347005.unknown

_1311346515.unknown

